1ERE S SECOND DEGRE feuille 8

2-2 : Résolutions standard

1. Résoudre les équations suivantes :

1 1 6 X+x+1 x+5
(D (x+2)=(x+3)(x+4)+ (x+5) (x+ b, ——+——== -
a. (x+1)(x+2)=(x+3)(x+4)+(x+5)(x+6) g R 2.1 %13
2. Résoudre les inéquations suivantes :
2
a. (Z—2x=3)(*+2x+2)<0 b, S toes . [ = +x+1>0
2x 2 I —2x+5<0
3 _ _ _n,4 3 _
d,Zx_S_ZOL_Z >0 e,#x__.so f._{_MSQ
x° +4x “2x°—x-18 x*-4
6 13x%-12
%' —x2+12=0 B, —pioss Sl i 6-x2> .
: -2 +x-1 6—x>
3. Résoudre dans R :
Byt2 & —4x*+13x2-3=0 3x2 —7x=0
x—-1 x+2
-2x2+8=0 2%24+7x -9 =0 ~%x2+5x—%5—=0
-x2-2x+3<0 27 —3x%2=0 -x2+7x=0
2x% —9x +10 =0 " . 2+%=o ¥ —4x +3 >0
4x — x?2 3x+2 X
>0 6(x—1)—Jx—1 =1 < *
(2x+1)(27-3%) (x=1) = x—1  x+2
3x2 -7x>0 —4x? +13x%* -3>0
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